L

@ [ o T " ©5

A

|

f |
/
4%
= A
7 AN fo\ A
W LN/ A ‘
Ex/e\| 22 PA . 2y |
|
|
|
| ¢
| |
| 1
|D
|
] ] I [PERMANENT MARKING INK_BLACK 550673
2 | SCREW SHC, M16x0.35 » 126 LONG Flauﬂ 1 AN ]
7 | 10717701 [TEFLON WASHER, 0127 THICK | . 1
R ILLER-STEPK 507 JEZ0XY_ NON-CONDUCTIVE S | ]
R N 00'75” GOLD WIRE 185518425 el
] | JEC 2216 A/8 POXY 185502533 D
AR | |sT12088 APTON TAPE O
. 0P NS _[1589332-1 SCREW_ MM [FYCO/NANDNICS 303 CRES bag
| 12\SECURE ITEM 5, COMMECTOR Mv 0 ITEM &, cuﬂ:cv:ﬁ FLANGE, USING TTEM 11, WASHER, [N 955L8  [WOOCE WASHER. FLAT. 800 |11 MORRIS 303 CRES i
AND [TEM 14, SCREW  TDRGUE 10 140 nemM PER P SPEC £5317340 3 | NATDET- 01601 SHCS, M16X0.35 X 1k ey
| SECURL ITEM 5, CONNECTOR MOUNT, TO ITEM 7. SUPPORY BRACKET, USING ITDM 11, WASHER. 1 13 PAG0E-06010 SHCS, M16X0 35 X 10 o
AND ITEW 13, SCREW. DU NOT STAKE SCREW HEADS. 5 [ 12 §3L-A7 M16X0 35 NUT_ M1 620 35 N 3L AZCRES —
SECURE ITEK 2, CABLE ASSENI.V T |rtv 3 CABLE MOUNT, USING ITEM 15, WASHER, AND 15 1 IST12259-016 IWASHER, M16 i
ITee 16, ScRe. Toeouc T ek PLR P SPEC £5317043 i DO MOP2-2 [PIN_TSHM X MM 303 (RES A —
Sk Teads Ui 00 5, Sieard o R ) WSPS_ NTD-F [THERMISTOR,_SAPPHIRE MOUNTED _ HALLEA-BEEMAR <
SECURE ITEM |, AWAPTER, TO ITEN 7. SUPPORT BRACKET, USING ITEM 13, SCREV T 8 DAD RESISTOR 7N — 1
AND ITEM 21 WASHER DO MDT STAXE SCREW B UPAORT BRACKET ——t
SETURE ITCw 4, COVER. TO (TEM L. hnﬂ":ﬁ USING IVEM 11 WASHER. ITEW 12, SCREV. adD 118 FLANGE, CONNECTOR
' 17Em 12, TORGUL 10 140 Nw JPL SPEC £SS17040 T 5 f MOUNT_CABLE
Yo TS VATH ITEH 18, B216AsD EPOXY USING 17EM 27 INK, STAMP EXTERIOR OF ITEM 4 7
7\ VIREEOMD ITDN 2. CARC ASSCHELY, AN ITEM 3 THERNISTOR, 10 ITEW 8. LOAD SESISTOR, UG ‘r'ér;g"" TSR D SCUAL Mbn Bk et [ prire | S
{ ITEx 19, 33 VIRC PLR ENGINEERING INSTRUCTION TE JHTAIN CIRCULT 50 07 PEIES: 3 13 foz098Ls-2 TABLE CLAMP B
S s Cltoia ARRANCEMENT SHOWN IN DETAIL & AND IS A SCREVS ARL NARES-U14 DR LINGER QUT 7O 126 KM LENGTH ' 12 s RASLE ASSERSLY, CRTTER S
| SUREeT 0 DA T [ 102*7666-1 ADAPTER
i‘} 2004 SECTION MASS: 26 GR -
SECURE |TEM 2, CARLE ASSEMELY, H l?[l 1, ADAPTER, USING ITEMS 3, CAR ~2 ol FANT O VATmAL
ITEw 1, vaseeR. & (Ten JEMGUE 10143 Nabst BE% JP1 SPEC £3917040 ﬁ‘ww&zﬁ"ﬂ[yb‘mu Y TUERORT BRAET oy b e | ™o | oam ] oG o WRCLATURE O GO SEOnCAR on et fand
SCHEW MEADS WITH ITEM !n 22164/8 LPORY — PARTS LiST
[:‘3 TOM 7, BRACKET IS FOR TEWPORARY SUPPORT Zain
APPLY [TEM 17, KAPTON TAPL, TO ITCM 1. ADAPTCR DN INDICATED SURFACC 'pg':nvg AFTER THERMAL fmm |,.5y.u_‘"m | NATCRLS, UNLESS OTHEAWSE SPECFIED CONTHACT WO JET PROPULSION LABORATORY —
ARE ™ WILMETERS CALFORNIA INSTITUTE OF TECHNOLOGY |
BOND [TEM 8. LDAD Etslsm!, .wn ITEM 9. THERMISTOR, 3X. TO [TEM 1, ADAPTER. "
USING [TEM 18, 2216478 ' &’ T L T m;;?v:num‘“:m I
APPD San
3\ sNp [7o 10, PIN, 10 1TEM 3, CARLE CLAwe. USING [1EX 18, Z216A/E CPOXT. KOND ITON 2. fi}i‘,’g.,"“‘"‘* FOMPLNENTS CoRP |~ 1ol = A m—.
CABLL ASSEMBLY, TO CABLE CLAMP USING ITEM 20, MS-907 £POXY PO BOX I SvER 30120 x| - . el THERMAL P,DNTRD -
+ — I
rolurv ITEN l LBID RESISTOR, IN ACCORANCE WITH CNGINEERING INSTRUCTIDN TO CUT LENGTH H.IIDLE!LIV ” perez-id METRIC Sien Wi :ai L M = =
To aepRI LEAVING CMY THC CENTER SCCTION OF RESISTORS. T —— THIRD ANGLE PROJECTION S o ke o — SPIRE &
Fa §nuu|rv ITE 2 CABLE ASSEMBLY, BT RENOVING STAIWLESS STEEL SPACERS ON o g g S ANGULAR TOLERANCES g
SIDES OF THE NANONICS CONMECT ANTE, CA 94803 S ki Yrrckal -
EL_SUBRANTE, C SPIRE = e = —— n - ‘ -
KOTES: UNLESS OTHERVISE SPECIFIED gaiaaaek ] o ARy WD o TEwS) b A 23835 10217660 [2]3 |
| DO NOT SCALE DRAWNG  [Dwot k.
APPLICATION INTERPRET DWG PER ASME Yl jom BT 20 [UNCLASSIFIED [smrr « o2 ] F
| B I 1 T 1 v 2700

[ Reteamcat am 14N u']:Z!h u;.n..uli nmnm«m{w_lnlllmsm‘q‘mfﬁt hnnuuLOJ STRU. HILIMLDHNWMATBLMI:IH‘NM nf,f{N Mn.\u‘«kamlknuu:;ql&m -

4

1




s ¢]

,E,

F
3

e
3 o8

23835

A1l

PTET r A

L LT 1

T T A1




1 ' 1 10 ' S 8 T 7 v 5 4 3 Z I
A\ NANONICS COMNECTOR {H
STMO51MBSN |
IIP'H FUNCTION ]
1 | REDUNDANT HEATER+ | |
2 | NC
3 |NC
20M0 PTC BIAS+ 2 Ine
5 | REDUNDANT HEATER- G
6 | REDUNDANT HEATER-—
PTC SIGNAL+ | T Ihe
g [ NC L
o ¢ 10| PTC CH. 1 SIGNAL+ !
NOMINAL 11| PTC CH. 1 BIAS+ |
@300mK PTC SIGNAL - 12| NC |
13[PTC cH. 1 BlAS-
14 |PTC CH. 1 SIGNAL— r
l 15| NC |
PTC BIAS— 16 | PTC CH. 2 SIGNAL+ |
17 | PTC CH. 2 BIAS+
20Ma 18| PTC CH. 2 BIAS- —
19 | PTC Ch. 2 SIGNAL-
PTC THERMISTOR CHANNEL, TYPICAL A\ 20 NC
21 | PTC CH. 3 SIGNAL+
22 | PTC CH. 3 BIAS+
23 | PTC CH. 3 BIAS— E
24| PTC CH. 3 SIGNAL-
25 | REDUNDANT HEATER+
26 | PRIME HEATER+
HEATER + 57 lue »
28 [ NC
RHEATER 29 | NC
MO 30| NC
= 31 | PRIME HEATER-
HE A3k 32 | PRIME HEATER— D
33| NC
34| PTC CH. 1 SIGNAL+
PTC HEATER, TYPICAL A\ 35|PTC CH. 1 BIAS+
36 | NC —
37| PTC CH. 1 BIAS— o
38| PTC CH. 1 SIGNAL— <
39 | NC o
40| PTC CH. 2 SIGNAL+ e
41| PTC CH. 2 BIASH oy
42 | NC =
43| PTC CH. 2 BIAS—
44 | PTC CH. 2 SIGNAL— —
45| NC <
NC = NOT CONNECTED 46 | PTC CH. 3 SIGNAL+
47 | PTC CH. 3 BIAS
IDENTICAL SIGNALS ARE COMBINED INTERNALLY AT 300mK END OF KAPTON CABLE 48 | PTC CH. 3 BIAS —
49 | PTC CH. 3 SIGNAL- B
IDENTICAL SIGNALS ARE EXPECTED TO BE TIED TOGETHER AT MATING NANONICS CONNECTOR 50 | PRIME HEATER+
51 | 300mK CHASIS GND
RESISTANCES ARE +40 %
=]
3
»
3 Cact o k]
A1l 23835 10217660 |,
Lt U il S Y 2
Mlilﬁﬁﬂ!‘l’ Richard (] Bammister and Richant & L’HK.MDMLQ‘MUM HA’SDIIIIIJCM .unAwn:&omumn Bt L - : - 14} - l 5 [ 4 I 5 I r




